Name:

Score:

| Practicing Solubility Curve |

150 P4 /
NN
140 —4 / /
130 ,/ /
— 4 /
2 120 //
9 o>/ /
= 110 ,§\ /
= w\/ /
w— 100 f
o / ,,/
o “ S
2 g0 \ v
] P
Q 70 \
¢
E 60 \é’ / \)\(J\/’/
o
E’ 40 &g/ — _— /Na'(
3 wlat=FT N )
<C 20 /] \03 -
WC A \\
10 ___:x{_____ Ce,(s0,), T T
0 |

Using the above solubility curve, answer
the given questions.

1. Which salt shown on the solubility

curve is the least soluble in water
at 10°C?

2. Which of the salts shown on the
graph has the greatest increase in
solubility as the temperature increases
from 30°C to 60°C?curve is the least
soluble in water at 10°C?

3. Which of the salts has its solubility
affected the least by a change in
temperature?

4. Which two salts have the same
degree of solubility at about 85°C?
affected the least by a change in
temperature?

5. To what temperature would you heat
80 g of KNO3 in 100 mL of water to
dissolve completely?
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Temperature (°C)

6. Fill in the missing information in the table below. Note: all solutions are formed from 100 mL

of water

Solution

Saturated or unsaturated

If saturated: How much more
solute can dissolve in the solution?

A solution that contains
70 g of NaNO, at 30 °C

A solution that contains
50 g of NH,Cl at 50 °C

A solution that contains
20 g of KCIO, at 50 °C

A solution that contains
70 gof Kl at 0 °C
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Answers
150 N P4 Using the above solubility curve, answer
140 "~‘/ / the given questions.
L/
/ /// 1. Which salt shown on the solubility
130 ¢ / / curve is the least soluble in water
@ 120 // at 10°C? Potassium chlorate (KCIO,)
g 110 V\0"’/ / 2. Which of the salts shown on the
g ‘$§/ / graph has the greatest increase in
S 100 4 ’ solubility as the temperature increases
o \ P é?n/ from 30°C to 60°C?curve is the least
= =0 \ d X soluble in water at 10°C?
Q :
— 80 / Potassium nitrate (KNO.)
v /
Q 70 \Z 3. Which of the salts has its solubility
g \% / ffected the least by a change i
5 60 2 Qo L~ affected the least by a change in
o \ Nl temperature? NaCl
o = 4. Which two salts have the same
b= b _—T NacCl d f solubili o
< 40 o egree of solubility at about 85°C:
8 /é& N // affected the least by a change in
= 30 ’// \></ temperature? HCl and KCIO,
< 20 d \(\OO"’/ x\\ 5. To what temperature would you heat
10 “*\;“:/ Ce,(50) ~_ 80 g of KNO5 in 100 mL of water to
5 1 -"""““‘--\f_ 4|3 T~ dissolve completely? 48 °C
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6. Fill in the missing information in the table below. Note: all solutions are formed from 100 mL
of water

If saturated: How much more

Solution Saturated or unsaturated . ) )
solute can dissolve in the solution?

A solution that contains

70 g of NaNO_at 30 °C Unsaturated 26 more grams
3
A solution that contains ated
50 g of NH,Cl at 50 °C Saturate
A solution that contains )
20 g of KCIO, at 50 °C Saturated
A solution that contains TINE— 190 more grams

70 gof Kl at 0 °C
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